SHSEE BRFARREEKR

—{BES 130 101 77 18 56
(e 13 " 8 ° 22
£ = 2 2 2 1 20
KRERE + XK 9 6 6 4 15
BERRME 1 0 0 0 _
R 0 0 0 0 -
B oOE 3 3 3 2 15
fﬁﬁj#;x:ﬁ 20 18 18 14 13
TRIBRT 8 8 8 5 16
KT 1 1 1 1 1.0
RIS R AT " 10 6 2 50
PRERIRE AT 4 4 4 2 20
BRRIZRET 8 8 4 1 8.0
HRRETH
BgiEt 5 5 4 1 5.0
EERELT 3 3 3 1 30
SHEEEL 3 3 3 1 30
EFERELT 15 1 6 2 55
wREE LT 2 2 2 1 20
ERY-SehT-h— 1 1 1 0 -
— BB 34 29 14 4 73
B R 4 4 4 2 20
BE)EELF 1 1 1 1 1.0
BR-IH 9 7 3 3 23
RS T KEHTHE 10 7 2 2 35
TKEIHBE 4 3 1 1 30
EH#EME 2 2 2 1 20
(42 3 3 3 1 30
K 4 4 4 1 40
e 1 1 1 1 1.0
PR iR 1 1 1 1 1.0
(;850)
KA 0 0 0 0 -
R R IR B A 1 1 0 0 -
ERY-SehT-h— 0 0 0 0 -
FHREYE 2 2 1 1 20




